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Worksheet based on Chapter 2: Fun with numbers

(Type of question- MCQ)

I. Choose the correct answer and put a tick mark (v) against it.

1. I have 3 in my name and | am closer to 100. Who am 1?

93 103 113 300

2. Two more than half a century is

102 52 62 50

3. Five hundred nineteen can be written as

590 519 419 500

4. 9 hundreds + 6 tens + 3 ones =

963 936 693 639

5. The largest three digit number is

100 999 989 333
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6. Ten notes of 100 rupees make Rs

900 1000 100 110

I1. Fill in the blanks. (1 mark Qs)

1. There are tens in 100.
2.400+ 20+ 8=
3.80+ =100

4. The difference of 90 and 110is .
5. The smallest 3 digit number is

6.45+  =60.

I11. Do as directed.

1. Fill in the blanks (2 marks).
i)100,99,98, ,

i) 204,206,208,  ,

2. Draw the cards to show the given number

i) 130

ii) 251

3. Count and write the number.
VAVAVANO'©
|i) 10 10 10 /\ /\ —
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4. Put the numbers in the right boxes.

45 30 15

5. What comes next?

i) 470 , 480 , 490 , ,

i) 165, 175, 185, ,

6. Count the money and write the total.

|) ?n10 %50 20 %10 @ - rupees.

i) | 250 210 210 g5 | = rupees.

Q IV Fill in the blanks (Type of Q —4m)

A frog jumps 4 steps on its every jump. A squirrel jumps 2 steps on its every
jump. A rabbit jumps 6 steps on its every jump. All of them start their jumps
from box number 0.

1) In how many jumps will the frog reach the box number 20?
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ii) On which box will the squirrel reach on its 5" jump?

1ii) How many jumps of squirrel equals to 1 jump of the rabbit?

Iv) On which box will the three meet?
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